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Computer Engineering A. H. Banihashemi
Problem Set #9 Solutions

» Textbook: Ch. 4: 93; Ch. 7: 34, 35, 39, 49, 52.
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See Problem 7.9 solution.
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a) The impulse response for this system is
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Let W, be the input to the system in Problem 7.34, then
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The power spectral density of Z, is
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where G f) is the transfer function that defines a first-order autoregressive process,
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to a first-order autoregressive process.
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7.49 X(t) = aX () + bX (t2)

a) e(t) = X(t)-X()

a}:{h} -L E’X{f-ﬂ - X{f}
Orthogonality condition implies that
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In Problem 7.26 we considered the above system. After making adjustments for the
difference in notation, we have
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Equation 7.87 implies that
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